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r+s=-—5r nliirs==:14

—742==5 s -7x2=-14 Je bl

¥ =5x-14 = xX*-Ix+2x—14
= x(x-7) +2(x-7)
x-7) (x+2)

-t/?PQ/LIZ!JUkZ;wa +bx+c a0
S IFe Upgat pId L i S5 SR L P ax’ +bx v e
La 0/;’Q/Iﬂm,b,c-,§ pg=acnp+q=>by
U fUT SR L s
£ - J&

(). 6x° +7x-3 (ii) \J3x% +11x+6+/3

(i) 6x2 +7x =320 e :
-_‘auﬁfu/axz +bx+c, ac=6x%x(-3)=—-18
6> +7x-3 = 6 +9%-2x-3 6x(-3):0-18
: = 3x(2x+3) —1(2x+3) - L 18
(-18)x(1)=—-18
= (2x+3L(3x—1) ey 18
-6x3=-18
(ii) V3x* + LIx+6+/3; ac = 3x63 = 18 9;(9_";:1;
e = ; ‘—/..U;j;
e Sl 9+2=11 i
'x/gx2+11x+6x/§ =\/§x2+9x+2x+6«/§ :
= \/§x|_x+3\/§] +2[x+3\/§]
a8y ANB)

43}«



235

L x ;;»9x+20
3. xz +5x 6
5 x° —x—l56
1. ¥-9%-9
9 98—7x—x2
. 11..2§2+_3x+'1
B
15 2230272
17. 30’ —10u +8

19. 5x% —32x+12

o Skl B
2 aStaM

4 ixl - Tx+12

6. xz—x—2}

8. a°-12a-85

Ny 1y 10

12, 35 +5x+2
W6 +7x=3

16. 8+6x—5x"

18. 10x° —7x—12

20. 4/3x% +5x— 23

J/Jumﬁf {

a + 3a2b + 3ab2 + b3
—M%+hH y

@) (a+b) =a’ +3a’b +3ab’ +b’ S
(ii) (@-b) =a’ - 34°b + 3ab’ - b°

G X +6x2 +12x+8
() > +6x° +12x+8

(i) > —6x* +12x-8

el SFSUFL At st

() ¥ -6 +12x-8  ESF -2 G

P +302)x) +32F x+2)
(x+2)

& —3Q)0) +3(2x~(2)

(-2
44

Il




LA 8

| S
() & +b = @+b) @ -ab+b’) .
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REMAINDER THEOREM AND FACTOR THEOREM
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